[ - ENGLISH LANGUAGE

ean kill and eat it, the way you like.

€4 .
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Directions {110} ¢ Read the
pllawing passage carefully and an-
swer the guestions given below it,
Certain words are printed in bold
{o help you to locate them while
answering some of the questions.

Once upon a fime, there lived

a cruel lion by the name of
phasuraka, in a dense forest. He
was very powerful, ferocious and
arrogant. He used to kill the other
animals in the forest to gratify his
mumger. His behaviour caused the
other antmals {n the forest to
worry. They were worrled that after
sometime none of them would be
left alive. They discussed their
problem amongst themselves and
decided to hold a meeting with the
lon.

One day as per the plan, all
the animals of the forest gathered
under a big tree. They invited the
lien, the king of the forest to at-
tend the meeting, In the meeting,
the representative of the animals

- gaid, “Your Majesty, we are grate-
ful, that you are our king. We are
all the more happy that you are at-
tending this meeting”. The lion
thanked them and replied, “What
is the matter? Why have we gath-
ered here?™ One of the animals
stood up and said.” Str, it’s natu-
ral that you have to kill us for food.
But, killing more than what is re-
quired is not'a good approach. if

iz the animals with-
out any purpdse, very soon 2 day
will come, wien there will be no
animal left trv the forest.” The lon
voared, "So what are you proposing

-2 One of the animals replied.

“Your Majesty.-we have already dis-
cussed the problem among our-
selves and have come up with a 80~
listion. We have decided to gend

one animal daily to your den. You

This will also save you from the
trouble of hunting.” The lion re-
plied. "Fine, 1 agree fo this pro-
posal, but make sure that the ani-
mal reaches me on tme, otherwise,
1 will kill all the animals of the for-
est.” The anirnals agreed.

From that day onwards, an
animal was sent to the lion daily
to become his meal. The lion was
very happy to have his food right
befare him without taking any
pains of hunting. A day came when
it was the turn of the rabbit to go
to the lion's den. The rabbit was old
and wise. He was unwilling to go.
but the other animals forced him
to go. The rabbit thought of a plan
that would save his life and the
lives of the other animals in ttie for-
est. He took his own sweet time to
go to the llon arid reached the
lion's den a little later than the
1asual dme.

The lion was getting impa-
tfent and, he was extremely furlous
when he saw a small rabbit for his
meal. He swore to Idil all the ani-
mals. The rabbit with folded hands
hesitatingly explained, "Your Maj-
esty, I am not to be blamed for my
delay- Actually, six rabbits were
sent to make your meal, but five of
them were killed and devoured by
another lion. He aiso claimed to be
the king of the forest. I have some-
how escaped to reach here safely.

«1he lion howled in great an-

ing. Naturally the image in the wa-
ter, the other llon. was also equally
angry. In order to lgil the other lon,
he jumped into the well and
drowned. Thus, ihe jubtlant rabbit
saved all the animals from the Uon
and they all lived cheerfully there-
after.
1. What did the lion see when
he lacked into the well ?
(1) The other animals
(3) The five other rabbits
(2) The rabbit's reflection
{4) A well hall filled with wa-
ter
(5) His ovm reflection
2. Where did the animals sched-
ule to haye the meetng?
{1)In the lion's den -
(2) At the outskirts of the for-
est
(3) In the forest under a big
iree
(4) Beeide the well
{5) None of these
3. Why was the rabbit unwilling
to go to the lion ?
(1) He cidn’'t want to be kiMed
(2) He was scared of the lien
(3) He felt intimidated by the
lion
{4) He was too old to walk
{5) He wanted to spend time
with his rabbit friends
4. Why was the lon called for a
meeting?

ger and said, “Impossible, there
cannot be another king of this for-
est. I kil him, Take me to the
place where you;saw him.” The in-
telligent rabbit agreed and took the
Jton towards.a deep wei], filled with
water. When they _é__;mghfpdqthe well,

the xgbg‘ifc;,gaig;;}m;;&a the place
wheie Yie lives: He.ight be hiding
def¥ The lion Ipoked into the
well andwsaw his owry refection. He

mougﬁggg_m"’ﬂiﬁ_omer lion. The

ops Gnd started growh

(1) The animals in the forest
wanted to discuss their
problem about the other
lion who lived in the well

oo+ with him. _
' (2) The animals in the forest

were not satisfied with

(4)The animals wgn_ieq ‘tn

.

pominate another W06
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ol pDirections (26-30) : In th
50 7' jollowing passage, there are blanks,
l’l, each of which has been numbersad.
. _fhese numbers are printed below
ky, the passage and against each, five
~ words are suggested. one of which
ﬁfl.k_ fits the blank appropriately. Find
legt. out the most appropriate word in
am Gﬂ.c-h case, )
u'“k Rabbits are among the most
mt,h" {26) of all amrl?:lﬂs The rabbits of
a colony, once a meetng to di
'l:: cuss this [27)] of theirs. They wn';.;.
heg_ to the conclusion that as thefr t-
midity would never leave them, they
thy were condemned to & miserable ex-
reg jstence and it would be better to
sag drown themselves and end their
(28] once and for all. Accordingly,
e g::y began to move towards a large
i When the frogs in the lake
l saw a large number of rabbits ap-
%  proaching they were filed with [20)
m  and made for the deepest part of
W the lake. Seeing this, the Leader of

“ om

o o

the rabbits stopped and said to his
fellow-creatures: “It Is true we are
timid, but here are animals more
timid than us. There is still some
(30} for us. Let us all go back te
our homes,” and the herd of rab-

bits headed back to their colony.
28. (1) calm (2) expensive
{3) generous  (4) timid
(5) skilled
27. (1) gene (2) trait
(3)virtue (4 sentiiment
(5) tradition
28, (1) misery (2) bad luck
(3) life (4) species
{5) torture _
29. {1) fear (2) empathy
(8) gratitude (4} glee
{5} sympathy
30. (1) refuge (2) doubt
{3) solution * (4) hope
(5) ray
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NURMERICAL ABILITY
Directions (31-38) : What will

come in place of (A the question
mark in the following questions ?

31 (24x4{[2)} « (16x12{@)) x

= (6)
(1) 42 (2) b4
(8) o0 4) 40
() 30
82. 6x 2% of {(2%+3%]+2—2-}
=7
(1) 21 2) 36
@) 27 42
{s) 29
33. (0.5F % 1’(40.96] =218+ 15~
12.8
2 @) 4
3)1 @5
5) 3
34. 7% of (68.52 - 32.3 + 43.78)
=100
{1) 75 (2} 150
{3} 80 4) 110
(5) 125
35. 1|f(sx ?2+3s) x 5% +9=60
(1) 6 (2) 4
3) 3 (@ 7
(5) 9

Directions {36-40) : What
should come in place of question
mark (7} in the following number
serles ? :

86. 121 117 108 @2 67 7
(1) 31 [2)20
34 (437
{5) None of these

87.50 26 14 7 5 35
(nse 2)8
(3) 10 (4) 12
{5} None of these

8.3 23 43 7 83 103
{1) 33 (2} 53
(3) 63 4} 73
{5} None of these

80,748 737 715682 638 7
(ys8s - @ys7I2 . .
(3] 581 ' [4) 563 '
{6) None of these
40.1 95 25 49 81 ? 169

(1} 100 )4

(8) 8L (4) 121

(5) None of these

41, The ratio of ducks and frogs in
a pond is 37 : 39 respectively.
The average number of ducks
and frogs in the pond is 152.

‘What Is the number of frogs in
the pond? '
1) 148 (2 162
(3} 156 {4) 144

(5) None of these
42.1n how many different ways
can the letters of the word

‘ARISE' be arranged ?
i) 90 (2) 60
(3) 180 (4) 120

(5) None of these
43, The number of employees in
C ABandCarcina
ratio of 4 : 5 : 6 respectively. If
the number of employees in the
Companies is increased by 25%.
3036 and 500 respectively, what
will be the new ratio of employ-
ees working in Companies A, B
and C respectively ?
(1) 13:10:18
{2} 10:183:17
{3} 13:15:18
(4) Cannot be determined
{5} None of these
44.The average of five positive
- numbers is 213. The average of
the first two nmumbers is 233.5
- and the average of last two
numbers is 271. What is the
. third number ?
. (1) 64
- (3) 108
(4) Cannot be determined
(5) None of these
48, Sonali invests 15% of her
monthly salary in insurance
policies. She spends 55% of her
monthly salary in shopping
and on household expenses.
She saves the remaining
amount of Rs. 12.750. What is
. Sonait's monthly income ? )
(1) Rs. 42,500 {2} Rs. 38,800 -

(2) 56

[

(5} None of these

i
R

(3) Rs. 40,000 [4) Rs. 35500




MODEL PRACTICE SET-11 |

--awer. the questions given below it ,

Total Residents and Perceatage of Women out of those Living in
Variong Socletice Over the Years

1 Directions (48 ~ BO) ¢ Study the following table carefully to an-

46, What is the difference between
the foial residents living in all
the societies together in the
Yyear 2006 and the total resi-
dents living in all the societ-
iea together in the year 2007 ?
(1) 100 (2} 85
(3) 70 {4) 50
(5) None of these

47. What Is the average number of
men living (n ail the societies
together in the year 2005 7
(1) 110 (2) 125
3) 115 {4) 120
{5) None of these

48. What is thie respective ratio of
men living in Soctety C in the
year 2002 to the year 2003 ?
; (1) 15:13
| 2)11:15
| @1
{41 13:16
(5) None of these
48, What is the average number of
women living in all the soclet-
fes together in the year 2005 7
{1) 130 (2) 131
(3) 125 (4) 140
{5) None of thege
60. What is the respective ratio of
the mmmber of women to the
total residents in Society E
over ithe years?
(1) 69: 143
. @344:715
- .. (3)173:358

W iz e

e L g -

wE ? X B T ) —E
L ¥ears | %of | Total| % of [Total| %of [Total| %of [Total | %hef [Total
' Women| Rent Rasi mLm Women| Real wmmlm
- ) dents]’ dents| exita) dents dents
; 2002] 44 |250] 35 [280]| 35 [200 | 40 [180 | 40 [220
‘i' 2003| 45 | 260[ 30 [ 270| 40 |250 | 60 |170| 695 [240
2004 35 [240] 45 | 300| 45 |260 | 70 | 200 | 5O |250
é‘ 2005] 40 [250]| 55 | 320 56 |280 | 60 |2i0| 45 }220
3 2008] 50 [220[ 50 [300] 65 |240 | 65 |220] &0 |240
I | 2007| 60 | 240) 60 |340] €0 2501 60 |230] 40 1260 |
SE
it

S0 ) 461717

B1. What approximate amount of

52. A millkman sells 120 litres of

59, When 3626 is divided by the

. pled by 32, the final answer

' B4, The sum of the digits of a two

(5) None of these

compound interest can be ob-
tained on an amount of Rs.
9,660 at the rate of 6.p.c.p.a.
at the end of 3 years 7

(1) Rs. 1,737 {2)Rs. 1,920
(S) Ra. 1,720
(4) Rs. 1,860
(5} Rs. 1843

milk for Rs. 3,360 and he sells
240 litres of mdlk for Rs. 6,120,
How much concession does the
trader give per litre of milk,
when he sells 240 litres of
mikk ?

{1) Rs. 2 (2)Rs.3.5
{3 Rs. 256 (4}Rs. 1.5
(5} None of these

square of 2 number and the
answer so obtained is muld-

obtained is 2368. What is the
mumber ?

17 {2) 36
(3) 49 4)e
(5) None of these

digit number 1s 14. The differ-
ence between the first digit
and the second digit of the two
digit number is 2.-What is the
product of the two digits of the
two digit number?

(1) 56 (2) 48

(3) 45

(4) Cannot be determined
(5) None of these -

58. A car runs at e spoed of gy
kmph wheén not serviceg

ty of milk in jar A is 84 ml
what is the value of ‘¥ ?

{1} 120 (2) 80
{3y 72 @) 81
{8) &0

69. The average weight of 26 stw-
dents in a class was 41.5 kg
After 10 new students jointd
the class, its average

average weight of 10 new stt-
dents who joined the class 78

kg

(TC5E-128) b

increased by 2 kg, what is the

runs atGDkl'nph.When:g‘_
wwd.mw_wsﬂénme%- 1 -t‘
s a certain distance &
ﬁ.‘fs. How mruch ttmewmhe > df;‘;foﬂn
car take to cover the same gy, PP ear
tance when not serviced? 80
(1) 8.2 hours (2) 8.5 hourg 0™ o
{3) 8hours  (4)7.2 hours sv’:‘_’s
(5) None of these (0 25
§6. Theheight of a triangleisequy k) 2
to the perimeter of a aqua, &3 '
whose diagonal ts 83 met, - pﬂ":cﬂ
the and the base of the say, the
triangle is equal to the side o of
square whose area is 441 m, e follo™ "
What is the area of the trian. Agatﬂp"cm
gle ? {in sq. meire) '. e
(1) 294 (2) 368 Lt J:—,gz ’
(3378 (4) 338 ; &7
57. Ram’s monthly pocket money : (8
is Rs. 8000 more than thatef ; (5 57
Shyam's. Ram and Shyampay 62.37 35
2095 of their respective pocke; ¢ () 8
money as monthly school fees, :
If the sum of both of ther | 3 7€
monthly school fees togethe ; (B} &
was Rs. 3200, how muchwas | g9, (486%
Shgam‘s monthly pocketmon- | m1
ey
(1) Rs. 4200 {2) Rs. 3600 31
(3) Rs.4000 (4) Rs.3000 )2
(5) Rs. 4800 { B x
58. Jar A contains ‘¥ mi mixture : (1}
of milk and water in there- °  (3)
spective ratio of 3 : 2. JarB - )
contains ' ml mixture ofmilk § o
and water in the respectivera- | "~ i+
tio of 4 : 1, which is added to (Hy
dJar A. If the resultant quant-

P Lk Ao

WA, P T
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v gormn 3 minutes, whatmne plat- {1)Nane e(;ch word? of .B'. !
; ?ﬁc:%ofme man (i m/;sect;'; 18)Two (;mm o B means ‘A 15 to the West
N g8 (2) 1.9 o, 5 More than three 71, Which of the following means
Ay " 4) 24 our teams, Team A ‘P 1 to the Eas y
N 5} 3.2 D partict , B, Cand tol Q7
'y ( ment: Tpaled in a touna- MH%P-S+0
o  Dlrcctions (61-68) : What ment: Team G acortd wore @21 +RxS-¥
g gosimate value Stould come i least, Team B ocorct s (BF%A-Q+B
glace of the questio In m D but mot as @we-2
m P gl n mark (%) in uch as Team A, W Q-Z%SxP
g e following questions ? amongst » Who (5) Nome of these
oot expected to caleul (You are s mgl‘he the four teams | 72. In th
value) ate the exact third highest? ’ ¢ equation F % Q + R -
s lé;} Team A ?ﬂtg rles i:ct which direction
g1, 554 x/348=2 ls;mg s hresp 0Q7?
y (1} 878 (2) 570 (4} Team D (2) South
] (@ 588 (4) 550 {5) Cannot be determined (9 West
ny {5) B79 68, ?w many such pairs of let- (é) 200th-west
2 §2,57.35 +13.064 x 346 =7 ters ars thers 13 the word m’mc;f;:fast
w ()8 each of which has (78 - 76) : The foi-
2)83 as many letters betwe lowing questions are based
- (3) 78 in the en them | five & on the
- (4) 79 word (in both forward our dight numbers given below:
- o ] _ 31“3,- b]:ckw%rd divections) 28 | 7g 1?475 2791 6456 1826 7534
63, (4863 + 1174 : O teon themm 10 | " of each s added to the last
" (1) 18 +2620) + 78627 g:‘?English alphabetical m-rt of each of the numbers, mﬁﬁ
(2) 16 ' many numbers thus formed
3 i2 {4)9 (1) None {2) One will the last
(5) 22 (3) Two (4) Three digit be a periect square? (One
64,54 %746+ 32 =" " ;il More than three ﬁf;':‘:n"‘ perfect (Squﬂrel
. In a certain e 2} O
. Ve o a cotan code TORCIE 8| (e
-3 () 1198 (4) 1248 is coded as ‘BUTHO'. How will (5) Four
ilk (5) 1236 'BLINK be coded in the samé 74.1 the first and third digits of
L 6.10.87x (3.2)2 + 2.3 =7 code? each of the numbers are tnter-
= ye s ()LOJKA (2)LKJOA changed, W e o the sum
B 312 (@10 . (3)AOJKL (9 LOKIA of the e i of the low.
(5) AKJOL er and the third di
i 70. In a certain of the highest number of t%“
. ina language nare pa new numbers thus formed N
so' means ‘books are ?
teresting, ‘ka 0 fa oy ans (7 219
‘are stori;:s m'bookt; m“';‘:lal';ﬁ 313 (4)5
. < 58
me pa ¢ m‘eans ‘reading is | 76. gf) all th
5 S| e a
gt :3: :‘;;festing (2) reading within the number. whlcig];‘;
o s (4) hooks the following will be the sum of
» (5) are allthefourdlgltsofthenum-
p I PR h fl:lh-eoﬂong (71 - 72) ¢ Read ber which is third highest in
e e
| problemsgivany r the questions which Uyl (218
(5) 23

- _
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.. Directions (76 — 80) : In each
question/set of questions below are
statements followed by two conclu-
sions numbered 1 and I, You have
1o take the given statements to be
true even if they seem to be at vari-
ance from commonly known iacts
and then decide which of the given
conclusions logically follows from
the statements disregarding -com-
monly known facts.
Give answer (1) if only conclu-
sion 1 follows.
Give answer (2) if only conclu-
sion II follows.
Give answer {8) if cither con-
clusion I or conclusion 1 follows.
Give answer (4) if neither con-
elusion I nor conclusion 11 follows.
Give amswer (5) if both conclu-
sions I and I follow,
78. Statements :
All gemns are precious.
Some gems are stones.
All stones are diamonds.
Conclusions :
1. At least some stones are pre-
cious.
. All diamonds are precious.
77. Statements :
All dreams zre fantasies, |
Some fantasies are pleasant.
All pleasant are everlasting.
Some everlasting are memories.
Conclusions :
1. Some dreams are memories.
1. Some fantasies are everlasi-
ing.
nis::
All black are blue.
All blue are green, . -
All green are emerald.
Conclusions : -
L. Some emeralds aré green.
I All black and blue are green.
{70-80) Statements : .
No design is fashion. . .
All fashions are temporary.

~ Some temporary are perma-
tent.

78.

78, Concluslons :
L 1, Some designs are perma-
s nent.

B i No fashion is perinanent.

[. At least some tempoTaxy ar
fashions. :

H. At least some temporary arc
not designs, -

Directions (81-88) ¢ Study the
following information carefully and
amswer the given questions.

Seven trees namely mango,
lemon, apple, ashoka, banana, gua-
va and papaya arc planted in a
straight row, not necessarily in the
same order. [Assums as if the trees:
are facing North).

{a) The papaya izee is planted
fourth to the right of the
lemontree.

(b) The Ashoka tree is planted
at the extreme right end of
the row.

(c) The mango and guava trees
are immediate neighbours of
the lemon tree.

{d) The banana tree is planted
immediately next to the
mango tree. -

81.Four of the following five are
alike in a certain way based on
their position in the above ar-
rangement and so0 form a group.

Which s the one that does not

belong to the group?

(1) lemon, mango

{2) banana, apple

{3) mango, banana

{4) guava, lemon

{5) apple. ashoka
82.Which trees are planted at the

extreme ends of the row ?

{1) guava, apple

(2} lemon, ashoka

{38} guava, ashoka

{4) lemon, papaya

{5} guava, papaya
83.Which of the following tree is

planted exactly in the middie of

the row?

{1) papaya {2) mango

{3) banana {4) lemon

{5) apple :
84.What is the position of the ap- .

ple tree with respect to the gua-

va tree?

(1) Second to the right

(©) Immediateleft |
{4) Third to-the right

(6) Third to the left
§6.How many frees are planteq

ka trees?
(1) None
(3) Two
{5} Four
Directions (86-90) & Study y,
following information carefully gy
answer the questions given belgg,
Efght friends - G. R, S, T Uy, e

One
Three

@
4)

1;wem;1therl:la.l'lgltlel.‘l‘llﬂ‘ll:hea;s]-lu~ .-

W and X — are sithing aroung , gl

(2) Fourth to the right

Lo
S
s

square table in such a way that foy, e g7
of them sit at four corners of th | (436 52,
squere while four sit iri the midd, |70 86
of each of the four'sides. The ong |, HoW
who sit at the four corners face thy ¢ above 2
centre while those who sit in the | _yieh ¥
"middle of the sides face cutside (e, by @ pel
opposite to the centrel. a pe;fec
T sits second to left of V, V sl (1) None¢
at one of the corners of the tablk, 3 TWo
Only two persons sit between T and ¢
R. Wsits third to right of S. S does | B/ FOW
not sit at any of the corners. § i [ip. Which
not an immediate neighbour of v, | to the
Both the immediate neighbours of | from t
U face outside. Q 15 not an immedi- | arangs
ate neighbour of V. ms
86. Who sits third to left of W? 32
mx g 5 6
(3)R @v ‘,s. How
BIU the aln
87. Four of the following five are | whieh
alike in a certain way based @ | a5 el
the given arrangement and 80 | pyump,
formagroup. Which istheone § penio
that t??oes not belong to thal (1) Of
Eroup
s @R @
©®)1Q @x B) Py
GU ay g
88. Who sit exactly hetween Wand | Juar
S when counted from the right :hbm"
of W? € fu
mTx 2RV mﬂ
Be.u @V o
GIU, v sqf:“
89. Which of the following stat® u);‘
ments is true vregarding U? O
(DU sits exactly between T1 QS;,
and X, R
(2)U sits to tmmediate let  § 3‘;:

i V. -




A

RS U 4. an immediate neigh-
.. potir-of 5.

{51 Naone of the given options
PR T "is Grue,
T 0. What is the position of Q with
“ee K respect to X°?

¥ T (1)Second to.the right
L i {2) Fourth to the left
t“ﬂy,i' {3) Second to the left
Wy {4) Third to the right

hq::‘ (5) Third to the left
'l‘.[,} pirections (91 - 96) : Study

P%;d the following arrangement of digits
hath; and symbols carefully and answer
So, he the questions given below :
:l;'ll,m 3 26RB7T054£32981653

oy 74986@214329872p843

% 9l How many 2's are there in the
i above arrangement, each of

&, which is innmediately followed

. by a perfect square? (1 is also

. \J% a perfect square)

=

¢is, (1) None {2) One
ATy  (8)Two {4) Three
Sty  (5)Four

3 g2, Which of the following s 8fth

@t " to the right of the eighteenth
UBi  from the left end of the above
et arrangement?

(1) & @ 9
w32 4 @
(5) 6

83, How many symbols are there in

the above arrangement, each of

vy which is immediately preceded
1sede 58 well as followed by an even
ands number in the above arrange-

hed ment?

ol - {1) One (2) Two
(3) Three (4) Four
(5) Five

94, If all the digits that are perfect
squares are dropped from the
o above arrangement, which of
the following will be the thir-
teenth (digit/symbol) from the
lelt end of the above arrange-
_ ment ? (1 is also a perfect
square).
ms. . (2)6
{3) # 47
- 55
95, How mény pairs of digits are

series?
(1) One
(3) Three
{5) Five

{2) Two
(4) Four

Directions (96 - 100) : In each
question below is given a group of
letters followed by five combina-
tions of number/symbot codes
numbered (1), (2}, (3), (4) and ().
You have to find out which of the
combinations correctly represents
the group of letters based on the
following coding system end the
conditions and mark the number of
that combinaton as your answer.

ed in bold in the gbove ar-|

rangenent each of _wh!;gh has
as many digits between them
{in hoth forward and baclkward
directions) as they have be-
tween them in the numerical

Letter] P 1] R[S[E[W| L

oip]N|x|alBlCIK

Code | £|5]4]#[3i8]@

7|2[1[se]n]9] &

Conditons :

changed.

g6, JDRALS
(1) 8246@#
(3) 8264@#
(5) 2846@#
97. ORNKEL
(1) 31407®
(3) 741Q3@
(5) 71403@
p8. EPBCOK
(1) 7pro3Q
(3) 3pon7Q
(5) 3prOTQ
99, RXISCN
(1) $45301
(3) 4$53%91
(5} 464519 - -
100, JRXPDB-
(1) 4npiS28
(3) n$4p28 -

. there ity the number highlight-

Wt ]

(5) 848p2m "

() If both the first and the fifth
elements are vowels, the codes
for both these are to be inter-

{1} If the group of letters contains
no vowel, the codes for the
first and the last elements are
to be Interchanged.

(if) If the third element 18 a
vowel and the fourth a conso-
nant, the fourth e¢iement is to
be coded as the code for the
second element.

1.8 14, (5)

8.(51] 808 ;".€?I£H2i'- BN

9@ 10.@] 1L |- A2

5 14 2] 16 @ | 26, (2

17. (1| 18. G} } 19.(3) | 20. @

21 (3) | 22 @1, 23.(1).] 24. 5}

23. 2} | 26- 41| 27.(2) 28, {1}

20. (1) | 80, [ 31 (5 |.32. 6

8z (1) | 32.8) 35, (3) |'86. (1)

37, 2)| 268. ) | 99 (5 |: 40. (4

41, [3) 42, ‘4)‘ 43 {5} 44, ﬂ)

45. (1) | 46.(1}| 47. (2 ‘ 48.4)

49. (2) | 50, (5) | 52. (5} . 52.(3)

83. (1) | B4.(2}| 55.@4) - 56, (4

57. (3) | 66.(5)] 59. 5 60- (2)

a1, 5) | 2. (2] 63. 18 84. (1)

65. 1)) 66. (1) ] €7.11 68. {4)

89.(1] 70. ()| 7L 3 72. 15)

73.2) | 74.2)1| 78.(4 | 78. U]

(2) B2AEH@
(4) 8@4264

2) 374019
(4) 341Q70

(2) 3npo7Q
(4} B3n79Q

(2) 499851
(4) 455951

(2) »45p28

77.@1 78.5) | 79. &) 80, (5

8L (5| 62. 0| 83.(8 | 842

85. @] s6.(1) | 87.(5) | 86. 3}

89, (4} | 90. (2} | 91. 3 92. (6)

93.(2) | 94. ©) | 95.(4) | 98. {1

a7.4) | 08.{1} | 99. (3) {100 2}

= EXPLANATIONS =

(4) npas28

1. (5) His own reflection.

2.(3) In the forest under a big
tree.

3. (1) He didn't want o be killed.

4. (5) The animals wanted tc
propose a solution to thelr
problem.

&. (5) He wanted to kill the other
lion.

6.(3) That the animal for his
meal reaches him on time.
7.(2) The meaning of the word

Devour (Verb) as used in the
passage is : to eat all of some-
thing quickly: gobbie up; con-
sume).
Look at the sentence:
The hungry lion devoured the

8. Elrfy'l‘hc meaning of the word
Gratify (Verb) as used in the
passage is : to please or sat-
isfy somebody’ to satisfy &
need, wish etc ’

Look at the sentence: .
It gratified hirq' to think that
it was all his w-%:rk.




52«25, 72 =49

MODEL PRACTICE SET-11 | = oo N
o ; 17. (1) patlence - N el T
3) The meaning of the word O =12 |
& Eiither {vesh) aga used in the' | 18, (3) until : 17 o ;_..1". 9
passage i : to come together | 18, (3) better -, @) ’[5x 72438) x =+ | ' ﬁ%,e
or bring people together in| 20. (2) known 0B S, a . ] Pt
one place, 2). [ A 22. 9 -0 - gl
Look at the sentence: 23.(1)C 24, ()1 4 17 i it
The whole family gathered to- | 25.(2) E 28. (4 t!r:‘li . m LA B
gether at Ray’s home. 27.(2) trait L L8 %
The word Disperee (Verb} | aga, (1) misery =51 ' : ) it
means : to move apart and go 29.(1) fear 51x3 ‘9.1“ cO’
away 1;:1 different directtons: | g4 (1) hope - m = 57 =y . 5
to spreacd.
Looiatthemtence: 8t. (5](24R4J§)+(15X12’,§)" =5x?+36=81 AREL
The crowd dispersed guickly, =58x7?=81-36=45 et
Hence, the antonym of gath- ?=5J6 45 , Rredt
eredshouldbedls?o;sed. 4 0axads §?3=—5—=9=>?=J§=a L&
10. (4) The meaning of the wor _ X7 = ~ A
‘E:me (Vexb) 2o used in the = 16x12/3 5/6 86. (1) 121 - 2% =121 g: 117 e
passage 18 : to get away from 117-53%2=117 -9=1{8
a place. o) 0 108-42=108B ~ 16=93 @1
Lookatthesent:dncf::'fhreﬁ me = 5/6 02 -52=92 -25=67 “",5:
prisoners escap om ja . P =
o 546245 o762 =67-30- ]
The word Capture (Verb) - = B - 37.(2) B0+2) +1=256+1=2% | ¢ n
means ! to catch & person and 2 26 +2)+ 1= 13 +1=14 gg:
keep as a prisoner. _ =
Look at the senmience = 5J/3x2/3 =30 5 (14+2]+1=7+1= spe
The animals are captured in _ ~ 25 s @+ +1=4+1=5 Per
o A (642) +1=2.5+1=35 =3
Hence, the antonym of es- 38.(3) 3 + 20 =23 L
caped should be captured. 2}_+31 +2§_ . o 1 20 o 43
11. (2) Hop (Verh) = ic move by 3' "3 8 = -
jumping with all or both feet 43+90 =
togethier. 29 7 . 10Y. 17
Look &t the sentence : ?-Gxﬁ of 13% 3 )% s 63 +20=83 -
" Arobin was hopping around on ' 83 +20=103
the path. ' 29 17 17 39. (5) ®6.0
Hence, hopping around ..... =g % F3Tg 748-1x11=748-11=737 '
should be used here. : 737-2x11=737-22=71% Yi
12. (1} It is not proper to use ‘the’ ,%’.xﬂxﬁ_ =929 716-3x11=715-33 =68 *
here. Hence A thirsty crow (any 2 3 17 B82 -4 x 1] = 682 - 44 = §38 Y
crow) should be used. 3. (1) 0.5V x Ja09% 638 -5 x 11 =638 -85={
13. (2} Brag (Verb) = to taik too 21 ¥
6 =
proudly about something you s — =128 0.0 %=1, g2
own or something you have 15 » =1, =9 a.(
i

done; boast,
Here, passive voice should not
be used. Hence, always brag/
always be bragging about
should be used. o
14. (2} Here, hard and enough
shouldn't come together.
Hence, If you try hard ....
. should be uged.
. 18, [2) The sentence shows past
= Hime. Hence, rabbit heard the
loud barking ... should be used,
8. (2} inveatigate

o ]

=05)"x84=144- 128
= 0.5V x 6.4 =1.8

16 1
=05 =53 =7
= (0.5) = 0.25 = {0.5)

=?=2
34. [5;0‘?90’6 of (68.52~32.9 + 43.78)

80x?
=>—-—-———

100 =100
45 -

=

41. (3} Let the number of duck
and frogs be 37x and 3%
respectively,
According to the question.
37x +39x
2

76x
—= 152
= ) 5

=152

= 38x =152

5 =100

o2=81, n2=f121] |




%) .Numberoffrogs = a0 -
. ",.. - = 39 )( 4 - 156
© - s.(4} The word ARISE con
*8p, 4. ¢ distinet letters. sists of
M. ~ Number of arrangements =
' L3
[\;‘\& =5X4x3Ix2 %l =120
13 5 43. (8) The number of employees
in companies A, B, and C be
& 4x, Bx and 6x respectively
; After increase in, the number of
employees,
& N Required ratio
S a2 130 0 150
alg = 4% 166" %% * 105 % * 100
s 24%x25:0x26:6x30
T =10:13:18
44. {2) Third number
=5x213-2x 233.5- 2 x 271

= 1065 - 467- 542 = 56

=

=12: 48.(1) Let Sonall's monthly in-

come be Rs. x.
: Sonall's percentage monthly
3 spendmgs=(55+ 15)9% = 70%%
. Percentage savings = 100- 70

35 ='30% ‘
-~ 30% of x= 12750
#% = 12750
100
= 1275;):100 = Rs.42500
48. {1) Number of all residents in

| =78 [
t=Th Year2006=:220+300+240
BT + 2204240 = 1220
;=61 Yw2007=>240+340+250
-5 + 230 + 260 = 1320

Required difference

= 1320 - 1220 = 100

47. (2) Total number of men living
in year 2005
60x250 45x320 45 % 280
= + + -

] ¥ 100 100 100
1:5 L4O><210-+55x220

T 100 100
ot = 150+144+126+84 + 121= 625

625
= Required average = —£~ = 125
48, (4) Required ratio

85%200_60x250
“ido ' 100
51301150 = 13:

15

49, (2) Total number of wamen in
all the aocietias in 2005
- 40x250  55x320  Sox280

+
100 100 " 100

60x210+45x220
100 100
=100+ 176 -+ 154 + 126 + 82

+

Required average
6558
r =131

B0. (5) Total number of residents
in the soclety E over the years
= 220 + 240 + 250 + 220 + 240
+260 = 1430
Number of women in society E
over the years

- 40x 220 +65><240 +50x250
100 100 100 *

45%220 50x240 N 40x% 260

100 100 100
=88 + 156 + 125 + 99 + 120 +
104 = 692
+ Required ratio
=B07 : 1430 = 346 : 715

(5) I = p[[1 +1_‘:5]T - ]
o5

= 9650[(1.06)3 - 1]
= 9650 (1.191016 -1}

= 9650 x 0.191016 = Rs. 1843

B52.(3) Case ]
The milkman sells 120 litres of
milk for Rs. 3360

Bl

3360
s SPperlitre= RS('EE]

=Rs. 28

Case 11
The mitkman sells 240 Htres of

milk for Rs. 6120,

[3120)
~ SP per litre = Rs.| 30"

=Rs. 25,5

. Required discount

=(28-255) =Rs. 2.5
3. (1) Let the required number be

X
According to the question,
3626

64, (2) Let the two digits number

55. (4) After servicing, speed of car

56, (4) Diagonal of first square

3620% 32 -
2 e
= x2 S48

2x=Ja0=a7

be 10x+ yand x> Y.
As given,
x4+ ye=14:
Solving these
x=8.y=6
s Product of digits =8 x 6=
48

X-ys2

= §0kmph

- Distance covered in 6 hours
= (60 x &) km = 360 lan

When not serviced, time taken
1o cover 360lkan

360k

= =72hours
= 50lanph

= gJf2 metre

N
~ Its side = T{ = 8 metre

-~ Height of triangle = Perime- ]
ter of square = 4 x side
= (4 x 8) metre = 32 metre
Side of second square = J4a1
=121 metre = Base of triangle
/. Area of triangle

=-12' % base x helght

1
= | —%x21x32
= [2 3 ) sq. metre

= 336 s melre
57. (3)Shyam’s pocket money
= Rs. x
: Ram's pocket moncy
= Rs. {x+ 8000)
According to the question.
20% of (x + X + 3000) = 3200

- 2x + 8000 = 3200
==‘_2’“,8000332()0x}‘j-.—. 16000
= D= 16000 - 8000 = 8000

-_—>x=---""2 = Rs, 4000

T—x32-2368
2 .




. 5 ax
Milk in jar A= “F7 ml

4x
Mitk in jar B = —~ ml

On mixing both the mixtures,
Quentity of mitk

=Tx=84x5

_ B4x5
7

=X =80 ml

59. (5) Total weight of 26 students
=(41.5x 26) kg
=1079kg
Total weight of 36 students
=36x{41.5+2 kg
= (36 x 23.5) kg
= 1566 kg

~ Total weight of 10 new stu-
dents-

=(1566-1079) kg

=487 kg

. Required average
487

=710 =48.7kg

80. (2) Length of platform = xme-
tre (et)

Speed of train = 63 kmph

63x5
= [_18—‘) m/sec,

3b
= [?J m/sec.
Time taken in crossing

Length of train and platform
Speed of train

218+ %
35
2

= 2=

= 2184+ x= 32x~9125-=530

= %= 560 ~218 =342 metre
-~ Speed of man’
= [-3—%%6) m/sec= 1.8 m/sec
81. (5) ? = JOB4 x /948
= 31.04% 187 = 580.5
+ Required answer = 579
B2. (2) = 7 = 37,35+ 13.064 x 3.46
= 37.35+13x 3.8
= 37.35 + 46.5 = 82.85
- Required answer = 83
3. (3)
7 = (4863 + 1174 + 2828) + 756
=BB8658+ 756 =11.72=12

64.(1) ? = 9-“-;—;4—6- ~1088.875
~ 1259
65.(4) 7 = [(15)" (3.2)2] +23

_225x1024 _

“T 23
68. (4) Meaningful Words

= POT, TOP, OFT
67.(49)A>B>D>C

10

G8. (4)
10 15 21 18 14 5 25

5
JOURUNEY
4 ]

69. (1)

TORC H—»IDS N S
l +1[|

+ ]

+1

~ 1

-1
PISTA=—>»BU H O
| +l||

+1 |

+ 1

|

-1
Similarly,

+ 1

'_+-]

ns El—" @ lm"ﬁ;. #g;
ks [5] ™ Eg] mmasn@ !

te mn le —3 reading s @ teding, &
ria =5 interesting 1 #_g.z
71.3) N p
NW, NE i

_ H

W E __ R

;ﬁ' [l

SE g

£

S 1

H % P — H is {0 the East ¢ $

P. -

P- S - Pis to the West of§
S+ Q = 5 is to the North o
Q.
‘Therefore, P is to the Norh.| §
West of Q.
Q + R = Q 1s to the North of (
R.

R x § = R is to the South o (
S.

S -P - S is to the West of P.
T{———-—.‘P

ﬂ"'
fse;p

R
P % A - Pis to the East of A

A~-Q o Als to the West of
)

Q + B - Q s to the North of
B

—

g¢—ae——rp

B
Thus, P is to the East of @ |7

72.(5) F % Q — F is to the Ess!
of Q.
Q@ +R~ Qis to the North of
R

R-S = Ris {0 the West of &
Qo——>»F

L7




1| opm

P

ess[9]
i a4, {2) 8475 = 7435; 2791 o
. @a72l1: 6458 = 5468; 1826 ==
2816: 7534 = 3574
Lowest munber = 2816
Highest rumber =» 9721
Required sum = 8 +2 = 10
(4) 3475 = 7543; 2791 =
a721; 6458 = B654; 1826 =
B621; 7534 = 7543
Third highest number = 8621
B+G424+1=17
(76 - 80) ¢
(i) All gems are precious —
Universal Affirmative {A-
type). -
(li)Somiec gems are stones —
Particular Affirmative (I-
type). _
i) No design is fashion —
Universal Negative (E-type).
(iv] Sume designs are not fash-
fons — Particular Negative

(O-type).

76. (1} Some gems are stones.

. 78.

b

Jf&
t,

E:
hy

by

]

All stones are diamonds.
I + A = I-type of Conclusion.
i ~Some gems are diamonds.”

Some stones are gems.

All gems are precious.

I + A = [-type of Conclusion
“Some stones are precious.”
This is Conclusion I.

77. (2) Some fantasies are pleasant.

All pleasant are everlasting,

I +A = [‘type of Conclusion.
“Some fantasles are everlast-

ing.
This 1s Concluston 11,
. '78.(5) All black are blue.

All blue are green.

I, |

Conclusien I 1s Converse of the
third Premise,

(79-80):
No design s fashion. '

: . £ in South-East directi Rk PRGN o

with respect to O, on A+ A= A-type of Concluston | 89. (4)U sits exactly, between g
3l 79.(2) 3475 = 3476; 2791 = “All black are green.” and S. R
N 2792 6458w 6450; 1828 = | - Concluston 11 ig true. U siis just opposite to V.

% . 1827; 7534 = 7835 Ufacesinside.

Al fashions are temporary,

E + A = O,type of Conclusion
"Same temporary are not de-
signs.”

79. (4) None follows.

g
88. (1) Xsits third to the left of W,

80, (2) Q sits fourth to the left or

p1. (3) [2 [Perfect Square |

02, (5) 5th ta the right of the 18th

right of X.

Such combinations are :
;[21]

from the left end means 23rd
from the left, i.e. &.

80. (5} Conclusion I is Converse of |EW“ Even
the second Premise. 93. (2) | number Symbol Number
Eronclusion 11 has been derived Such combinations are :
om the given statemenis.
(81-85) : [Bea] [284]
94. (5] According to question, the
x -g E % E 4 E, %‘ E new sequence would be :
: o 2 & ) E' i l‘} 326amgsazse!;la-rsasozs:smps
B1. (5) Except in the case of apple | o
and ashoka irees, in all others
the first trec is to the immedi- | 95.4) 5~ ¥
ate left of the second free. . 34262_’{
82. (3) Guava and Ashoka. 4
83. (3) Banana. 968.(1}J DR A L S
84. (2} Apple tree is fourth to the 1L el
right of Guava tree. 8 2 4 6 @ 8
85. (4) Three.
(86-90) : 97.4) O R N K E L
L1yl
R 3 41Q7%@
) v
w T Condition {i) is apphicable.
o8, () EPBCOK
Ll il il
Qe T 7 Bnr93Q
Condition (i} is applicable.
| 99.(3)R_‘XISCN
U ! T 1Lyl

‘48 5% 91
Condition (it} is applicable.

il

87. (5) All except U, face outside.
ie., are sitting in the middle 100.(2) J 1: :f i Ij T
of the sides. 1 e
88. (3)When counted from the r 488 |
right of W, two pecsens O30 | Concition (19 apptee oy
sit exactly ) L
and S- - _




